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If x = % Calculate [3 points]
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. Which of the following fractions has the largest value? [3 points]
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A) 8/9 B) 66/77 C) 555/666 D) 4444/5555 E) 33333/44444

. OnJuly 1 in Moscow the sun will rise at 04:53 and set at 21:25. The local noon will be
exactly halfway between these times. At what time will the local noon be in Moscow on
July 1? [3 points]
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. Order the numbers: a =v36 b =352 c¢=35.19 d =752 [3 points]
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A) d<c<b<a B) c<b<d<a C) d<a<c<b D) a<d<c<b E) b<a<d<c

. Three children ate 17 cookies altogether. Andrew ate more cookies than any other child.
What is the smallest possible number of cookies that Andrew ate? [4 points]
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In the right triangle ABC, m(A&) = 90°, m(B) > m(C), the measure between the bisector
and the median corresponding to the angle A is 10°. The measure of the angle B is:
[4 points]
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A) 35° B) 45° C) 55° D) 65° E) 75°

. Point C belongs to a semicircle of diameter AB. Two semicircles of diameter AC and
BC, are constructed, as in the figure. Knowing that AB = 10cm and BC = 6¢cm, find the

area of the shaded region. [4 points]
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A) 60 cm? B) 24 cm? C) 30 cm? D) 20 cm? E) 10
cm?

. Two squares of sides 8 and 13 intersect as in the figure. What is the difference between
the non-overlapping areas? [5 points]
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9. If \/(al - 1)2 + \/(az - 2)2 + \/(33 - 3)2 + -+ \/(32014 - 2014‘)2 S 0,
then find dq + do + ds + -+ d2014- [5 pOIn'[S]
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A) 2029105 B) 2092015 C) 2029015 D) 2014 E) 2015

10. Calculate: [5 points]
(V2 +v3 -V6)(—V2 + V3 +V6)(V2 - V3 + V6)(V2 + V3 + V6)
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A) 12 B) 24 C) 17 D) 23 E) 19



